TH8HE RIEIFER FHRE

MEHE iz & FA#K SRES
R 1
M1 (AFF2 55
(1) 4P
5 5 7= naz
2) e =
55 l
©) E =200 GPa
5
@ P, = 31.4kN
5
®) P, = 15.4 kN
5 M

1/4 BN PE S B B P A



g 4 —_
M hE iR & %K SRES
2
M2 (AFF2 55)
(1)
5 ‘lf_ff RA + RB - F
(2)
A Aa = /117
(3) s 4R, 1,
4 ;lf_f'; a T[dg E
4) = 4Rg 1,
45 ndlz,E
6) R = dalp
AT azl, +d? 1
8 =y a'b b ‘a
4 5
% a1,
Rp=——22%
dz2 1, +d2 I,

2/4 BN PE S B B P A




M N fRE AR

3

RES

3 (( ) WofRICEEEXL. F1. (7) OF, Kb, BIE3 R, B5F26 5.)

(7)

(7)

(=)

()

()

(7)

(7)

(=)

)

()

(A)

(V)

(%)

)

(7)

() wi (1) (&F) _hlhf (721x ALY A)
(4FR) _ b U (721 AUV #A)

(530 RO ) (e bk ROD) 9

(&) _HAMOT %

(A8 _Lbr b ol hUnf (X5 5h—FTH)

() y (FRESE LV r0 de & LTHA)

(L, R@EAVE) _ r0  (FhESLvr0/de L LTHA)

(i?iﬁ, R, Vmax%}zﬁb\;) 7 Ymax / R

(0 c

A, ) & T2— A b2 EXDMORE] 72 5) rec

(520 R () ) 2rxcrtdr

CCrs, EEERT DI, O, tma 2N L) 27 Cma/R

e, @z g rdr (F) FA, e ZHNK) TR Tmax/2
Ly, @QeLwT5) 2/x R’

(FIHEA L 2 fE)

R=Y QTi/nw) = /n)"3X10,

S D=2R=0.860X10X2=17.2 mm

3/4 BN PE S B B P A




M A% R PR ZRES
M4 (Fit245
%(;)5 AW TR X SFD thife— 2> MREX BMD
EAE S [N] fiFeE—x 2 b
® Kl —400 [N+ m] —400x
()
2
=1
wau i E— X > b
AW [N]
@) CHeli) —800 [N - m] —800x+ 240
()
(3) (%4 5)
7
F F f
e s
%
7
| 2
U2 2 4
| ',
¢
0 A)
oo _400 N
—800 N
(B)
—240 N-m
—720 N-m

4/4 BN PE S B B P A




